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Question 1. (2 marks each )

Find the derivative of each function.
(a) f(x) = sm(2x) In(x?+3x—1)
(b) g(2) = 1n(l‘+ 7)

(©) f(x) = £l

(d) A(r) = (1n(r2+ 1))3
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Question 2. (3 marks each)
Find dy/dx.

(a) sin(xy) =2x+5

(b) xIny +y3 =Inx

©) %2 +xy—y> =xy*

(o) éogbcj\ <3+ x%% =2




Question 3. (3 marks)
Find the equation of the tangent line to the curve xy? = 1 at the point (1,—1)
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Question 4. (5 marks)
Find the derivative of y = (x+ 1)'0*,
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Question 5. (5 marks)
2
Given xy — 1 =y —x, find % , express your answer in terms of x and y only.
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Question 6. (5 marks)
Find the derivative of y = In <__x__ Vvx—=l )
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Question 7. (5 marks)
Find the intervals where the function f(x) = (x+ 1)2(x —2)? is increasing and

where it is decreasing. Find all relative extrema.
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Question 8. (10 marks)
Find the following information about f(x) = 3x* + 4x3

-The intervals where it is increasing and where it is decreasing
-Any relative extrema

-The intervals where it is concave up and where it is concave down
-Any inflection points S o

-For 3 BONUS MARKS, find the x and y ﬁltelcepts and sketch f ( )
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